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Intermediate Algebra

Final Review #9 — Mived Revie
D Salve for x: 737 7 : v #9 — Mixed Review

Axe =G

r‘t r‘l )(J

2) Rationalize the fraction — V2

\z\{a .

Ve

3) Factor completely: 2x3 + 10x? -28x

[xu FIOX - ‘1)}

4) Use the quadratic formula to find the roots of the equation: 3x*> - 4x - 9 = ()

5 2 X=-btJio*4ac¢ . —(4)d J-4) 4319

o’lo\' 2(3)
& W NEY %
- 43 = Lt J[auZ
5) Simplify (x — 3)? (X ?)3 (- 3) v,
x4 “2x-%% 44
K- x4
6) Given f(x) = x? and h(x) = 3x — 1, find f(g(x)).
( 202
(3x -V(Dx- )
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D e diagran, hdm\ is rhombus DEFG. Using the diagram solve for all mg,lLb in the diagray,,
5 & \\ = 51
3v+11 7) *
2 Umb;‘4( - J
Wele DL )Qeol
““\(’ﬂ W =23 +Q
e ¥0=139 A "
& ()1 - — ———('E"C):%
- X E =4y o
=X
8) Simplify the follo\\mg with positive exponents: 75‘1_”’ i .
5aZp~—1¢
507¢ w9 %
aYb

9) Simplify: 7+/3 — V27 + V12
NN
VQ 3 V= U3
573
VR - + = TONG
10)Sohcforxb3 03 Q\ri) Q\ré— 3\{3

ompleting tI¥ square: x2 + 6y — 59 = 0
X% px =69
K2R =S99
Kr2)? 4638 < F—;

Atd= ¢t
11) Find the product oflow 3a78. ' = -’3;)2\5"_&\1'1—1
-9 , |
20077 = 20
af

12) Find the inverse function, £~*(x) of f(x) = 5x — 11

K= 5y- }X* £ J
| Fal

\ =
Xrt
=3
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<A Slate 1
1 1 lhc l“lk‘lv\'lll ]]Ul“liﬂn ('I. ';((’
S "y — ]) > 18 3b

% H)bb :)5 > \&-2b
| 2 3y
(\, o) v 5
14) State the rad; b7|
ate the radius and the center of the circle (x + 3)2 + (-1 =4
Conchin ( - D)
AOGny \E« =4
15) Determine if each of the following are functions:
| — ) ‘ . Av
| il | | 1 ‘ lr
\‘ J ¥
\
< i i g o I N
f B F N K Y: [‘ X
/
,V ’ ‘ .
N O A on
16) Solve for x on the triangle.
Dy AR - ™
. Q\/y 07 =C Vo= *%
SV IQ ? ¥ 6 Kﬁ X \2)
i lqaras =x™
17) Solve for the missing angle. Round your answer t0 the nearest degree.
~\ s 1
CoSCa)
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[8) Line ¢ ‘ .
o reement DC has endpoints (2, 6) and (-1, -8). find the slope, midpoint and distance of thjq h

line.

a) Slnpc V .
13 HV — - ) .
SN » _ 5 (D - - / L{ \H L

—
— ——

3

-—

Xa-X, =4 =8,

=3

b) Midpoint L ¥ Ko y, T\/)g,)
9.

/

2
5 - _‘ L
(%r', Lt E) o (%, -)

¢) Distance
()LQ’X.)Q 1 Cyg-g‘)“ N (22 4 (- 14)?
(‘\-a‘)& "'("8'@))3 - VCi“'Ibcl: \régg

19) State the domain of the following function: {(3,2) (-4, 3) (0,2) (9,-10) (-1,1) (2,2)}
; X A

b: 33/ -1, O/ C)/~I/Q}

20) Solve for x: &2(’-"4) = Q"'“(’
ax-U) =X~  Kiherl
Ax-§ = x-0
X —X
B¢

21) Solve for all values of x: |7x — 2| = 44

SN
TB Gy (Tx-3) = ey
—t2ra X 1R= HY
R
4G = 7

)(2""7—" X:'é
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